IT Quiz MCQ PDF

1. Who is the father of the computer?
(A) Charles Babbage

(B) James T Russel

(C) James A Gosling

(D) J.M. Coetzee

2. Which one the first search engine on the internet?
(A) Google

(B) Yahoo

(C) Archie

(D) WAIS

3. Longhorn was the code name for?
(A) Window XP

(B) Window Vista

(C) MS Docs

(D) Window 98

4. Indication of an excel that a cell is active?
(A) Bold and lItalic Text

(B) A Blinking Border

(C) A Dotted Border

(D) Dark Wide Border

5. In excel how we can view cell comment?

(A) Mouse Pointer Over The Cell

(B) By Clicking Comment Command On View Menu

(C) By Clicking Edit Comment Command On The Insert Menu

(D) By Clicking Display Comment Command On The Window Menu

6. When you press the following then cell accepts your typing as its contents
in an excel?

(A) Alt + Enter

(B) Tab

(C) Shift + Enter

(D) Enter

7. How many numbers of bits used by IPv6 Address?
(A) 64 Bit

(B) 128 Bit

(C) 258 Bit
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(D) 32 Bit

8. In which language Applets are created?
(A) COBOL

(B) C++

(C) Java

(D) BASIC

9. Which option you will choose if you want to convert your existing excel
sheet and/or charts to the HTML document?

(A) Import Wizard

(B) Internet Assistant Wizard

(C) Internet Wizard

(D) Export Wizard

10. Which from the following function is used to displays row data in a column

or vice versa?
(A) Hyperlink
(B) Rows

(C) Index

(D) Transpose

11. What is the element of the PowerPoint package?
(A) Templates

(B) Wizards

(C) Views

(D) All Above

12. What is MS Access?

(A) Relational Database Management System
(B) Non-Relational Database

(C) Oracle Database

(D) SQL Database

13. Components of a database system?
(A) Data

(B) Software

(C) Hardware

(D) All the above

14. In a computer, firewalls are used for?
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(A) Authentication
(B) Data Transfer
(C) Security

(D) Monitoring

15. You can execute the macros by choosing from the following?
(A) Edit

(B) Tools

(C) Insert

(D) New

16. Which of the following is the command to delete a table from database?
(A) Delete From Database Where

(B) Remove From Database

(C) Drop From Database

(D) Truncate From Database

17. Where clause in SQL___ ?

(A) Limit the data that are return

(B) Return all the data

(C) Limits the row data are returned
(D) None of all

18. Name the application which is used to views the data from database?
(A) Schema

(B) Relational Model

(C) Module

(D) Sub Schema

19. How many layers are in the open system interconnection?
(A) 11

(B) 7

(C) 10

(D) 8

20. What is the use of a report generator?
(A) Print file on paper

(B) Data Entry

(C) Delete File

(D) Save File
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21. How to set page border in excel?

(A) Border from tools in the Formatting toolbar

(B) Border from tab in Format Cells dialog box

(C) Cannot set page border

(D) Border From Line Style tool in the Drawing toolbar

22. In Microsoft Excel insertion of new rows and columns are called?
(A) Cell

(B) Sheet

(C) Workbook

(D) All the above

23. Which company developed MAC OS?
(A) Samsung

(B) Micromax

(C) Microsoft

(D) Apple

24. Which are five built-in function provided by SQL?
(A) Sum, Avg, Min, Max, Mult

(B) Count, Sum, Avg, Max, Min

(C) Sum, Div, Avg, Max, Min

(D) Div, Multi, Avg, Sum, Count

25. Microsoft's head office is located at in ?
(A) Washington

(B) New York

(C) Chicago

(D) Brooklyn

26. In the database what is the feature of the relational model?
(A) Table with many dimension

(B) No need for primary key

(C) data is more independence than other database models
(D) None of the above

27. First smartphone was launched in__ ?
(A) 1990
(B) 1991
(C) 1993
(D) 1992
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28. To insert three columns between columns A and B you would?
(A) Select Column A

(B) Select Column B

(C) Select Both Columns

(D) None of these

29. Text editor launched for Windows Operating System?
(A) MS Word

(B) MS Excel

(C) World Pad

(D) Notepad

30. What symbol E-R model uses to represent a weak entity set?
(A) Diamond

(B) Dotted Rectangle

(C) Double Outline Rectangle

(D) All the above

31. In message switching, what type of addressing scheme is used?
(A) Manual Addressing

(B) Geographical Addressing

(C) Hierarchical Addressing

(D) None of these

32. VLOOKUP function is used for?
(A) To check identical cell

(B) Look up text that contain "v"

(C) Find related records

(D) All above

33. A database trigger can be enabled or disabled?
(A) Yes
(B) No

34. What does means Not Found (404) error while accessing a URL?
(A) You don't have permission to access this page

(B) URL is not valid

(C) The requested file is not available

(D) The server could not find the requested URL
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35. What function can be used to send messages to users requesting for text
input in JavaScript Application?

(A) Alert()

(B) Prompt()

(C) GetOutput()

(D) Display()

36. How to declare an array?
(A) int array[5];

(B) int array{5};

(C) array(5);

(D) array{5};

37. Which connection does the OSI model support in networking?
(A) Connectionless

(B) Connection Oriented

(C) None of these

(D) Both A & B

38. The set conceptisusedin___ ?
(A) Relational Model

(B) Hierarchical Model

(C) Network Model

(D) All the above

39. Which of the following will be used to drag selected data to another
worksheet in the same workbook?

(A) Ctrl key

(B) Shift key

(C) Tab key

(D) Alt key

40. To perform recursion which of the following data structure is used?
(A) First In First Out (FIFO)

(B) Last In First Out (LIFO)

(C) Binary

(D) Stack

41 Electronic Mail /Message System (EMMS) best suits to
(A) Postal service
(B) Telephone service
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(C) Telegraph service
(D) None of these

42 EBCDIC is

(A) 6-bit coding system
(B) 7-bit coding system
(C) 8-bit coding system
(D) 9-bit coding system

43 Maximum character EBCDIC can code
(A) 8

(B) 16

(C) 64

(D) 256

44 The hexadecimal number system has a base of
(A) 2

(B) 4

(C)8

(D) 16

45 Data entry can be performed with all of the following except
(A) OCR/ OMR

(B) COM

(C) Voice-recognition systems

(D) MICR

46 Magnetic tape can serve as
(A) Input media

(B) Output media

(C) Secondary-storage media
(D) All the above

47 ASCII File is

(A) Document file in the universally recognized text format
(B) Word processor

(C) System file

(D) None of these

48 Which of the following terms applies to communication between two
computer systems?
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(A) Computer literacy
(B) Power supply

(C) Applications software
(D) Connectivity

49 Word Processors that is the part of Windows operating system
(A) Wordpad

(B) Notepad

(C) Adobe Photoshop

(D) Jasc Paint Shop

50 Microsoft Windows provides a graphics application named
(A) Paint

(B) Adobe Photoshop

(C) Jasc Paint Shop

(D) None of these

51. What are open source tools?
(A) Linux

(B) Apache

(C) MySQL

(D) All the above

52. If you are using the following command in the O/S terminal window “where
is MySQL” then what will the output?

(A) A directory will display all the database in MySQL

(B) A directory will be shown where MySQL is installed

(C) A directory will display all the tables in MySQL

(D) None of these

53. Apache start command is used for _ ?

(A) Restart the apache server

(B) Exit form apache server

(C) Display the information about an apache server
(D) Shut of the apache server

54. Phpinfo() function is used for___ ?

(A) Display all the hidden files in the directory

(B) Display all the controller files in the directory

(C) Display the configuration options of PHP when called from localhost
(D) Run the PHP program
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55. To display inline commenting in PHP what symbol is used?
(A) /1

(B) \

(C) r=...x1

(D) <!--->

56. What symbol is used to comment a tag in HTML?
(A) 1" ....71

B)1...... \\

(C) <I-- ... ->

(D) None of these

57. Printf() function is used for ?

(A) To display raw strings

(B) To display variables

(C) To display both raw string and variables
(D) None of these

58. How many types of data types are available in PHP?
(A) 2
(B) 4
(C)6
(D)5

59. What is the scalar data type?

(A) The data type that able to hold two values at a time
(B) The data type that able to hold four values at a time
(C) The data type that able to hold five values at a time
(D) The data type that able to hold one value at a time

60. What is the ER Model

(A) Collection of objects and relationship among them
(B) Collection of classes and relationship among them
(C) Collection of functions and relationship among them
(D) Collection of array and relationship among them

61. Which of the following constructs has a testing statement at the bottom of
the iterative set of statements?

(A) If...else....endif

(B) Do...while
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(C) While....do
(D) For...next

62. Which of the following operator is used to check if two numbers are not
equal?

(A) I=

(B) #

(C) <>

(D) NOT

63. If you start writing a pseudocodefor finding the factorial of a number.
Which of the following keyword will use to give additional information about
each step in pseudocode?

(A) Display

(B) Accept

(C) Compute

(D) /1

64. Which of the following statements is used to exit from the case after the
condition is met and the case statements are executed?

(A) Switch Statement

(B) Break Statement

(C) Default Statement

(D) Execute Statement

65. Which of the following statements is optional in a switch case construct?
(A) Switch statement

(B) Case Statement

(C) Break Statement

(D) Default Statement

66. Which of the following is the invalid variable name?
(A) My.name

(B) My _name

(C) MyName

(D) MylName

67. Following pseudocode is to accept and diaply two number:
Character num1, num2
Begin
Accept numl
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Accept num2
Display num1
Display num2
End
Which of the following statements is incorrect?
(A) Accept numl
(B) Begin
(C) Display
(D) Character num1, num2

68. Which of the following operators evaluates to true even if one of the
individual conditions is true?(A) AND

(B) ==

(C) OR

(D) >=

69. Which of the following operators is used to combine two or more relational
operators?

(A) + operator

(B) < operator

(C) = operator

(D) AND operator

70. What will be the output of the following expression? 12+3*(5+100/2)
(A) 125
(B) 177
(C) 825
(D) 168

71. For checking spelling one uses
(A) Dictionary Disk

(B) Index disk

(C) Directory

(D) None of these

72. Process of finding/ correcting program errors is
(A) Bugs

(B) Debugging

(C) Hacking

(D) Cracking
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73. The total time elapsed between submission of command and data to a
computer and getting the result of computation is the

(A) Access time

(B) Response time

(C) Entrance time

(D) None of these

74. An automatic machine that is made to perform routine human tasks is
(A) Computer

(B) Robot

(C) Tanker

(D) None of these

75. The time required to complete a single, continuous execution of an object
program is called

(A) Run time

(B) Access time

(C) Random time

(D) Response time

76. Document reader is

(A) An optical input device used to read documents
(B) A device that arranges the documents

(C) A device that is used to edit a document

(D) None of these

77. One or more identifying lines printed at the bottom of a page are referred
to

(A) Header

(B) Footer

(C) Index

(D) None of these

78. FORTRAN is

(A) Formula Translation

(B) A high-level mathematically oriented programming language
(C)Both A& B

(D) None of these

79. The primary memory of a personal computer consists
(A) ROM only
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(B) RAM only

(C) Both ROM and RAM
(D) Memory module

80. Microsoft Excel is

(A) financial planning package

(B) electronic spreadsheet

(C) graphics package

(D) database management package

81. In Windows operating system it sits at the bottom of the windows desktop
screen. It shows you which programs are running and allows you to switch
between them. It also contains the Start button which one can use to access
programs, folders, and computer settings.

(A) Sidebar

(B) Icons

(C) Taskbar

(D) None of these

82. In Windows operating system it is the long horizontal bar at the bottom of
a screen. Unlike the desktop, which can get obscured by the windows on top
of it, it is visible almost all the time.

(A) Sidebar

(B) Icons

(C) Taskbar

(D) None of these

83. In Windows operating system when you delete a file or folder, it doesn'’t
actually get deleted right away, it goes to the

(A) Recycle Bin

(B) Dust Bin

(C) Cycle Bin

(D) None of these

84. Word Processors that is the part of the Windows operating system
(A) Wordpad

(B) Notepad

(C) Adobe Photoshop

(D) Jasc Paint Shop

85. Text Editor that is the part of the Windows operating system
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(A) Wordpad

(B) Notepad

(C) Adobe Photoshop
(D) Jasc Paint Shop

86. In Windows operating system the Is the main screen area
that one sees after he turns on a computer and logs on to Windows.

(A) Desktop

(B) Icons

(C) Taskbar

(D) None of these

87. In Windows operating system these are small pictures that represent files,
folders, programs, and other items. Each one is used to make the computer
do something.

(A) Sidebar

(B) Icons

(C) Taskbar

(D) None of these

88. In Windows operating system it is a very important part of Windows,
clicking on it opens up what is called the start menu

(A) Start button

(B) Sidebar

(C) Icons

(D) None of these

89. In Windows operating system the clock in windows XP sits on the
—— and displays the system time.

(A) Taskbar

(B) Start menu

(C) Desktop

(D) None of these

90. Microsoft Windows provides a graphics application named
(A) Paint

(B) Adobe Photoshop

(C) Jasc Paint Shop

(D) None of these

91. Microsoft Office is
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(A) Desktop applications
(B) Operating system
(C) Command window
(D) None of these

92. Microsoft Office is an office suite, for the
(A) Microsoft Windows operating systems
(B) Mac OS X operating systems

(C) Both A and B are true

(D) None is true

93. Microsoft Word, Microsoft Excel, and Microsoft PowerPoint are the part of
(A) Microsoft Office Suite

(B) Microsoft Windows

(C) Mac OS X

(D) None of these

94. The very first version of Microsoft Office was released for
(A) Windows operating system

(B) Apple Macintosh OS

(C) Unix

(D) None of these

95. The first version of MS Office to be released for the Microsoft Windows
operating system is

(A) Microsoft Office 3.0

(B) Microsoft Office 2003

(C) Microsoft Office 2007

(D) Microsoft Office XP

96. A personal information manager and e-mail communication software in
MS Office is

(A) Microsoft Outlook

(B) Microsoft Word

(C) Microsoft PowerPoint

(D) None of these

97. A popular presentation program for Windows and Mac in Microsoft Office
IS

(A) Microsoft Word

(B) Microsoft PowerPoint
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(C) Microsoft Access
(D) None of these

98. To create slideshows, composed of text, graphics, movies and other
objects, which can be displayed on-screen and navigated through by the
presenter or printed out on transparencies or slides one uses

(A) Microsoft Word

(B) Microsoft PowerPoint

(C) Microsoft Access

(D) None of these

99. For Database management one uses
(A) Microsoft Access

(B) Microsoft PowerPoint

(C) Microsoft Access

(D) None of these

100. It is software for creating newsletters, business cards, flyers, greeting
cards, or postcards.

(A) Microsoft Publisher

(B) Microsoft PowerPoint

(C) Microsoft Access

(D) None of these
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